
A

Each member of IMT works independently.

Select the segment which is the most likely to contain the missing person, and assign it value of 100.

Then assign a value between 1 and 100 to all the other segments, depending on how likely the missing person is in that segment, compared

to the most likely segment  of 100.

Transfer their scores to the table below.

Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16 A17 A18 A19 A20

                             

                             

Column Totals 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Consensus POA ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### ###### %

100%
Then POA for each segment

Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg
A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16 A17 A18 A19 A20
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